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QUESTION 1

Candidate McFee received 12,000 votes, which was 

of the total number of votes. If .r additional people had voted and each had voted for McFee, then McFee would have
received 

of the total number of votes. What is the value of x? 

A. 8,000 

B. 6,000 

C. 4,000 

D. 3,000 

E. 2,000 

Correct Answer: B 

 

QUESTION 2

Last year a company gave bonuses to a number of employees, but only in the three amounts of $750, $1,500, and
$7,350. If the total amount of the bonuses was $64,800 and each of the three amounts was given to at least one
employee, what is the fewest number of bonuses that the company could have given to employees last year? 

A. 10 

B. 11 

C. 12 

D. 13 

E. 14 

Correct Answer: D 

 

QUESTION 3

The sum of the first n positive odd integers is n2 . What is the sum of the of the odd integers from 25 to 79, inclusive? 

A. 392-122 
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B. 402-122 

C. 792-222 

D. 802-232 

E. 802-232 

Correct Answer: C 

 

QUESTION 4

Was the median height of the 25 children in a certain class at least 2 percent greater than the average (arithmetic mean)
height of the 25 children? 

(1)

 The median height of the 25 children was 2 centimetefs greater than their average height. 

(2)

 The sun of the heights of the 25 children was less than 2,550 centimeters. 

A. 

Statement (1) ALONE is sufficient but statement (2) alone Is not sufficient. 

B. 

Statement (2) ALONE is sufficient, but statement (1) alone is not suf ficient. 

C. 

BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE Is sufficient. 

D. 

EACH statement ALONE Is sufficient. 

E. 

Statements (1) and (2) TOGETHER are NOT sufficient. 

Correct Answer: C 

 

QUESTION 5
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: E 

GMAT PDF Dumps GMAT Practice Test GMAT Study Guide

Powered by TCPDF (www.tcpdf.org)

GMAT PDF Dumps | GMAT Practice Test | GMAT Study Guide                                4 / 4

https://www.leads4pass.com/gmat.html
https://www.leads4pass.com/gmat.html
https://www.leads4pass.com/gmat.html
http://www.tcpdf.org
https://www.leads4pass.com/gmat.html
https://www.leads4pass.com/gmat.html
https://www.leads4pass.com/gmat.html

